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1. All questions are compulsory.
2. Draw neat diagrams. wherever necessary.
3. Figures to the right indicate marks.

Attempt Any Two.

A. Explain the circular flow of national income in three sector economy.
B. Describe the Recovery phase of trade cycle.

C. Discuss the contribution of agricultural sector in India’s national income.

Attempt Any Two.

A. Define Aggregate demand & explain determination of equilibrium
national income in open economy.

B. Define multiplier & explain its working with the help of diagram.

C. How is general equilibrium determined with the help of IS - LM curves?

Attempt Any Two.
A. Bring out the difference between demand pull & cost push inflation.
B. Explain the Fiscal measures to control inflation.

C. Describe the policy strategy for employment generation in India.

Write explanatory notes. (Any Three)
. Recession Phase of Trade Cycle.
. Contribution of industrial sector to India’s national income.
. Motives of Demand for money.

A
B
C
D. Constituents of Money Supply.
E. Types of unemployment

F

Effects of inflation.
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